Year Six — Spring 1

KIRF: Fructions af amounts
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Questions to ask at home Things to try
What is 2 of 257
Sotvzii;:% af ____= 15 Use the bar model to help you. How many parts are in the
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Key vocabhulary

Denominator: The hottom number in a fraction.
Shows the numher of equal parts in the whole.
Non unit fraction: A fraction where the
numerator is not one.

Numerutor: The top number in a fraction. Shows
how many parts we have.

Unit fraction: A fraction where the numerator is
one.

whole? How many parts do you have? How many parts does the 15 represent?
Prove it: useth@burmodebwpmveg of 56 = 32 is correct.

Wehsites:
https://www.topmarks.co.uk/Flash.aspx?f=bingofractionsofamountsv3

https://mathsframe.co.uk/en/resources/resource/264/Crystal-crash-fractions-
numbers
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